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Chemistry 11
QUANTUM NUMBERS AND ORBITAL DIAGRAMS EXERCISES

1%;111% aplap'dp{3s [3pl2pl 30 IHS 3 13d i3 13d ! 3d|p4p Yp
Na. iT‘L Nr /W 1\ d i T\L 1\ |-
o 1ty T LTI

S 1

. Draw an ORBITAL DIAGRAM for the following elements: Na, Cl, $ and Mn
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2. Represent the above elements using ELECTRON CONFIGURATIONS:
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3. How do two electrons that occupy the same orbital differ?

Thew, differ ecause tey have & Opposite spins
M /]\up spin/ Clockwise 3 \Lgpfn [comnter

4. What does the Pauli Exclusion Principle state about electrons?

No two electrons can have the Soune exact
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5. Why does the orbital diagram you draw for Manganese in #1 show the five 3d
electrons each in a separate orbital rather than grouped together in pairs?

To decrease the fovee of repulsion berween electrons ,
each electvon 1s placed ind(\t(dua\lné into the  auailoble
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6. Briefly explain why when completing an electron configuration the 4s orbital
“fills” before the 3d.

Folowina the eneray level diagram ) Yo must £l
Ythe lowest enex L&?eve\ 5% because s is lower
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7. Write the ION CONFIGURATIONS for the following: G>

a. Ca? (|52 Qg? @?@9387‘ 5"@6’) ov ([Nd 36t 3p
o a (18> 52 2p%) or ([He] As* ape)
e pr (1SSt PP 387 3p) or ([Nel3e?3p©)
o e (1stas?apt) or ([Hel 25%2p%)
e. o (IS* 25" AP 3s¥2p¢ 1d¥) or ([Ar] 3d7)
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electron Con@i%. Cove Notation

Three WOUS Yo chow the Quanitum Mednanical Model

\. electvron Con@igwromon
1. Cove Notation
3. Ovloitatl diagram (4o Show the 4™ Quontum Nov)



